EXAM DATE : 18-August-2017
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 1 - Select the related word from the given alternatives.

Square : 90° :: Equilateral triangle : ?

g 7Tq faehedt § § |efaa 1&g @t gAgl

if : 90° :: FHaTg Fremior: ?
Options:

1) 30°

2) 60°

3) 90°

4) 120°

Correct Answer: 60°
Candidate Answer: 60°

QID : 2 - Select the related letters from the given alternatives.
ILN:FIK:: RUW:?

fog Ty freredt # @ Heifa srert @ gfgl

ILN:FIK:: RUW:?

Options:

1) ORT

2) PSU

3)NQS

4) LNQ
Correct Answer: ORT
Candidate Answer: ORT

QID : 3 - Select the related number from the given alternatives.

99:101::100:?

fog g faeredt & € Hefda dwemn & gl
99:101::100:?

Options:

1) 90

2)110

3) 111

4) 102
Correct Answer: 102
Candidate Answer: 102

QID : 4 - Select the odd word from the given alternatives.

fog g faemedt & € fawm <1z @t gigl
Options:

1) Football

Qdld

2) Hockey

EE)

3) Carrom

4) Cricket
fehahe

Correct Answer: Carrom
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Candidate Answer: Carrom

QID : 5 - Select the odd letters from the given alternatives.

fiq g Rreredt # & fwm s1ert &t gfgl

Options:
1) ACE

2) FHJ
3)QTW

4) KMO

Correct Answer: QTW

Candidate Answer: FHJ

QID : 6 - Select the odd number from the given alternatives.
g g femedt # § faww den &t gfgl

Options:

1) 121

2) 44

3) 66

4) 111

Correct Answer: 111

Candidate Answer: 121

QID : 7 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
tub, size, latin, formal, ?

ek SeRH feam ma §, o g Wee g 81 &g g fashedt # § 9 el fadhed 9T St SigehH ol T R

tub, size, latin, formal, ?
Options:

1) smooth

2) idle

3) scramble

4) capital
Correct Answer: capital
Candidate Answer: capital

QID : 8 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
YXWy, TSrQ, OnML, jIHG, EDCb, ?

Qe 31ehA o T 8, OreH Ue U &1 g TG ferehedt # & a5 wel fahed 9y St SrgeRd ol O R

YXWy, TSrQ, OnML, jIHG, EDCb, ?

Options:

1) YXWV

2) ZYxW

3) XwVU

4) YXWV
Correct Answer: ZYxW
Candidate Answer: ZYxW

QID : 9 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
2,5,10,17,?,37
e SeRH feam ma &, fores ge e q &1 iy g fenedt & & ag 9@t fened 9T it srgerd &t g1 |

2,5,10,17,2,37



Options:
1) 24

2)30
3)32

4) 26
Correct Answer: 26
Candidate Answer: 26

QID : 10 - Gurkiran's birthday is on Sunday 215t May. On what day of the week will be Shreyas's Birthday in the same year if Shreyas was born on 14t November?

TRIARA ol AT AR 21 7% &t §1 TS ST &l 570 14 TdeR o o7 af I ay SITe ol SAfe T & forg & ghm?

Options:
1) Tuesday
HITTaR

2) Wednesday
gUaR

3) Friday

Q\I

4) Saturday
RIEEIN

Correct Answer: Tuesday
HITAIR

Candidate Answer: Friday

Q\I

QID : 11 - The weights of 4 boxes are 40, 70, 80 and 50 kilograms.Which of the following cannot be the total weight,in kilograms, of any combination of these boxes
and in a combination a box can be used only once?

TR Ferdt T goi 40, 70, 80 3R 50 fheitumm &1 Fmfafd # § aot & foreht off Tatem @ gt aw, foheium & &l 91 A8 8 TendT & SR Ueh I=ItSH § o IR Tk 8t IR TR |
STIT ST ehdT 87

Options:
1) 240
2) 160
3) 200
4) 220

Correct Answer: 220

Candidate Answer: 220

QID : 12 - From the given words, select the word which cannot be formed using the letters of the given word.
THUMBING

frafafea el & & ag 2rea gAQ St Qg 7y 2ree & S1eRl a1 TRINT Sheh g ST Sl TehdT:

THUMBING

Options:
1) THING

2) MIGHT
3) HAUNT

4) THUMB
Correct Answer: HAUNT
Candidate Answer: HAUNT

QID : 13 - If HUMBLED is coded as JWODNGF, then how will WAX be coded as?

Tfé HUMBLED @t fahelt st & JWODNGF forar Sirar €, @t WAX &t 33t i & o forar sirgem?

Options:
1) DHP

2) YCZ
3)Vis

4) JIMH
Correct Answer: YCZ
Candidate Answer: YCZ



QID : 14 - In a certain code language, '+' represents X', -' represents '+, '’ represents '+' and '+' represents -. What is the answer to the following question?
60x5+3+24-6=?
Rl ohte oTwT &, '+ T TderE X' 8, - T A '+ §, X' 1 Aderd '+ § ok '+ o1 Adere - g1 FRefafea wer e Ik @ &2

60x5+3+24-6=7

Options:
1)18

2)94
3)9

4) 57
Correct Answer: 18
Candidate Answer: 18

QID: 15 - If 9@3=12; 15@4=22; 16@14=4; then what is the value of 6@2=?

afE 9@3=12; 15@4=22; 16@14=4; A 6@2 = ? & AF F1d Hiford |
Options:

1) 26

2)1

3) 30

4)8

Correct Answer: 8

Candidate Answer: [ NOT ANSWERED ]

QID:16-

Options:
1) 58

2)14
3) 49

4)4
Correct Answer: 49
Candidate Answer: [ NOT ANSWERED ]

QID : 17 - Two motorcyclists P and Q start from the same point. P rides 11 km West, then turns South and rides 16 km, then turns to his right and rides 14 km. Q rides
30 km South, then turns to his right and rides 25 km. Where is Q with respect to P now?

@ Atezarsfohet Trera P ok Q Uan €1 fiig @ gewana o €1 P 11 5= uffjw it o wirar 2, fv af&ior &t o gg simar & ofik 16 3.1, e Sirem &, fohe sroeft aré ofk gear & sk 14
for. . I SITaT 81 Q &feror i ok 30 R+, ek ST 8, iR Srueft 218 ofR S STTe & 8fR 25 fon.#. Tes S1ram &1 P Y ffar @ 9@ Q g R 82

Options:

1) 14 km North

14 fr . SR

2) 14 km South
14 fo5 =t =fgor

3) 44 km South
44 for 7. =feyor

4) 44 km North
44 R . W

Correct Answer: 14 km South

14 for. Y. =fgor

Candidate Answer: 14 km South
14 fo5 =t afgor

QID : 18 - In the question a statement is given, followed by two arguments, | and II. You have to consider the statement to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should mango export be banned to bring down domestic prices?

Argument | : Yes, environmentalists and dieticians too encourage eating only local fruits.
Argument Il : No, exports bring in valuable foreign currency.

U § Uk Ry e mar § O ot gt adh | 3R 11 Ry 2 €1 suehl A1 & o e I € 918 98 9 I et § {9 el glan gt | st Rvfg e g R R g anf A @
F-T1/AH-8 qh Tered &, afe i gl

HY: TR FAd H hH A & forg oA & Frafa w ufdsier wmar s arfg?

ah | g, mafarurag ok STER AW dhaet WK thet WM ! HicdTied ed &1
adh I1: 7, Frafd geaam fRef ger amd 81



Options:

1) if only argument | is strong.
I et deh | AT 2

2) if only argument Il is strong.
I dhaet e || ToTed &1

3) if both | and Il are strong.
gt Y ah | iR 11 Froreg &

4) if neither | nor Il is strong.

& ATt ek | 3R AT 81 ek || 7T 2

Correct Answer: if only argument Il is strong.

& haet e || 7eigd 8
Candidate Answer: [ NOT ANSWERED ]

QID:19-

Options:
1)

2)
3

4)
Correct Answer:
Candidate Answer:

QID:20-

Options:

1) GDA

2) FAC

3)EG

4)EDA

Correct Answer: E,G
Candidate Answer: E,G

QID:21-

Options:
1)

2
3

4)
Correct Answer:
Candidate Answer:

QID:22-



Options:
1)

Correct Answer:

Candidate Answer:

QiD:23-

A piece of paper is folded and punched as shown below
in the question figures. From the given answer figures,
indicate how it will appear when opened.

9o MHfAAt # RET HTHR FTT HY
g 3WI g FA aUT Dol & 9 dg
e e ampfar Star fewng &em?




Options:
1)

D (
D . (
2
D d
D @ d
3)
L L)
fainy £y
4
P
D oo @
Correct Answer:
D~ d
D d
i} i}
Candidate Answer:
D~ d
D d
i i
QID: 24 -

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

afz v gdor A1 MN TE@T 9T T@T A0 A &
Sea] HWefaat # & Sla-dr apfa uea gl
#1 wér ufafasa gnfr

i
-




Options:
1

1N
L~

AV

T

S
=

=l

7/

Correct Answer:

=N
NI

Candidate Answer:

=i
\

QID:25-

Options:
1) 21,23,78,98

2) 76,12,87,97
3) 40,32,76,79

4) 33,23,57,88
Correct Answer: 76,12,87,97
Candidate Answer: 76,12,87,97

QID : 26 - The closest example of a centrally planned economy is the

et 9t Y gan et srafY den hdlopd dioTTeg srfaaase & fFdhean Iareeor

3) Soviet Union

gifgga g

4) Japan

ST

Correct Answer: Soviet Union
gifaaa @9

Candida_te Answer: Soviet Union
qag

for the major part of the 20th Century.

&



QID: 27 - is the relationship between the variable input and output, keeping all other inputs are held constant.

_ oGt smTa qun ffa & awifda g, O ffa & o9 sy et smrat ot feR w@r gl

Options:

1) Total product
3o I’

2) Average product
S I’

3) Isoquant
FHMA JEAT

4) The Long Run
EEEac]

Correct Answer: Total product
Dl IS
Candidate Answer: [ NOT ANSWERED ]

QID:28- means cases that can be directly considered by the Supreme Court without going to the lower courts before that.

o1 3ref & 35 o eneHl Y gAaTs He gatea e o GohdT &1 08 qoheA! § Uge! (Hael sreTerd! # gAars S 81|

Options:
1) Original Jurisdiction

2) Writ Jurisdiction

Re gwmeft

3) Appellate Jurisdiction
Srdieft iR

4) Advisory Jurisdiction
TorTg gra-eft
Correct Answer: Original Jurisdiction

Candidate Answer: Original Jurisdiction

QID : 29 - Under which of the following jurisdiction can any individual, whose fundamental right has been violated, can directly move the Supreme Court for remedy?

T4 9 § R & & dgd i off afth, fSadh Hiferes SfATR &1 Iecier o 8, THT & forg e gatea =rarery SI1 TehdT 87
Options:

1) Original Jurisdiction

el TRAh &

2) Writ Jurisdiction

IfiehT & ~aTies &5

3) Appellate Jurisdiction

St =ries &

4) Advisory Jurisdiction
TATgHR TR
Correct Answer: Writ Jurisdiction

TfRrenT ol ATieh &

Candidate Answer: Writ Jurisdiction
s

QID : 30 - During their rule the British persuaded or forced cultivators in Bengal to grow

37O RTE o SR ST el &t aivmmer & I & g FeTeR v 38|
Options:
1) Jute

SI¢
2) Tea
q

3) Sugarcane
el

4) Wheat

Correct Answer: Jute
S

Candidate Answer: Tea
ag

QID : 31 - The Mongols under invaded Transoxiana in north-east Iran in 1219.

& Aga H et 3 1219 F IR gt R F giasifera@aTn w g fa



Options:

1) Timur Lang

AR T

2) Nadir Shah

TR amE

3) Ahmed Shah Abdali
TGS G

4) Genghis Khan
e @t

Correct Answer: Genghis Khan
e &t

Candidate Answer: Nadir Shah
IR 2ME

QID : 32 - In the biosphere living beings are inter-related and interdependent on each other for survival. This life supporting system is known as the

g Heot & gt shfaa sfaat shfaa @3 & g g g & e Gefdd ofk ek gt €1 59 Sfiaw snenRa @5 &l ___ g &)

Options:
1) Ecosystem

2) Mountain range
Sforat

3) Forest
ST

4) Atmosphere
EIGICKY)

Correct Answer: Ecosystem

Candidate Answer: Ecosystem

QID : 33 - The part of the Himalayas between Tista and Dihang rivers is known as Himalayas.

forgan ofk g aleat & g o aret fgaTera & wmT ot ___ fR|Tera et ST B

Options:
1) Nepal
Juret

2) Kashmir
HHR

3) Assam
SEH

4) Jammu
SHL

Correct Answer: Assam
EH

Candidate Answer: Assam
T

QID : 34 - Other name of Platelets is?

UefeenTo] (Wiceicd) T GERT ATH T 87
Options:
1) Leucocytes

2) Erythrocytes
ThIY] (3Reftarse)
3) Platelets
(SEE)
4) Thrombocytes
yEaTEe

Correct Answer: Thrombocytes

Candidate Answer: Erythrocytes

1] (3RenwTse)

QID : 35 - In stems, the protoxylem lies towards the centre and the metaxylem lies towards the periphery of the organ. This type of primary xylem is called

=  dieiSTge™ dhg it 3R qut Aereigerd uRfY & ik gl &1 39 TR & STgerd ot FEd &l



Options:

1) Xylem fibres
SIESLCE

2) Xylem parenchyma
SIESE

3) Exarch

sl
4) Endarch
neATeEIedh

Correct Answer: Endarch
kel

Candidate Answer: Xylem parenchyma
Sge™

QID: 36 - is the second largest animal phylum.

O G g vToft T g

Options:
1) Mollusca

2) Chordata
3) Coelomates

4) Anneldia
Correct Answer: Mollusca

Candidate Answer: Mollusca

QID : 37 - In a qualitative way, the tendency of undisturbed objects to stay at rest or to keep moving with the same velocity is called

ToTTeHe: ¥ # feheft a¥g o formTa=en # 38 a1 Twe 3 © nfaefier g &t ugfi @ HEd 8l

Options:
1) force
EE|

2) acceleration
R0T

3) friction
oy

4) inertia
S

Correct Answer: inertia

Candidate Answer: inertia

QID : 38 - The time taken by a pendulum to complete one oscillation is called its?

TR WAleleh Uk Gl GXT e B OIaT §HT ST & 39 TR ddleleh ol T hgd 67

Options:
1) Maximum speed
Tet
2) Average speed
3T 9
3) Time period
3T et
4) Time interval
Y R
Correct Answer: Time period

3T e

Candidate Answer: Time period
<hleT

QID : 39 - Teach Text' is a text editor in which of the following operating systems?

ffafaa 7 3 frg vare gomelt (ifRféT Ren) # & ¢ T dae Yures 87



Options:
1) Windows
faets

2) Google Chrome

T ShtH

3) Mozilla Firefox
Eapreace

4) Macintosh

AfchateT

Correct Answer: Macintosh
q

Candidate Answer: Macintosh

Afperr

QID : 40 - Metals react with sodium hydroxide to produce

4T e gEgiause ¥ AfAfthar avch 309 oed &1

Options:
1) oxygen gas
STt 19

2) sodium

3) water
STef

4) hydrogen gas
GESERRE]
Correct Answer: hydrogen gas

Candidate Answer: hydrogen gas

QID : 41 - Which base is present in lime water?

T & U H R T &Rk UTT ST 872
Options:

1) Sodium hydroxide

ifsaa

RESERIES]
2) Magnesium hydroxide
AR grEgRIES
3) Calcium hydroxide
FfRTTT gEIES

4) Ammonium hydroxide
GESIESIES]

Correct Answer: Calcium hydroxide
EESIESIES]

Candidate Answer: Calcium hydroxide
EESIESIES]

QID : 42 - Presence of large amounts of nutrients in waters also causes excessive growth of algae.

STATRIIT # eIt AT H TRl i IufRAfT & Hror Sarer S sifaRm gig gt &1
Options:

1) Biomagnification

Sa smaeE

2) Algal bloom

aTer e

3) planktonic

eI

4) Eutrophication
Correct Answer: planktonic
Candidate Answer: [ NOT ANSWERED ]

QID:43- scheme launched by the Central Government plans to issue soil cards to farmers which will carry crop-wise recommendations of nutrients
and fertilisers.

e TIHR GRTYE IR FISHT & ded [hdT1 i &l 1S ST fchdl ST i Aot & o ] & STIaR Uieh deal i Sden SMfe &l Jarg & st



Options:

1) Soil Health Card

T @R 1S

2) Shyama Prasad Mukherji Rurban Mission
STTHT TS @O MR- AR

3) Pradhan Mantri Fasal Bima Yojana
TS e ST TSrET

4) National R-URBAN Mission
A STR-31E AR

Correct Answer: Soil Health Card
ST W IS

Candidate Answer: Soil Health Card
T W IS

QID : 44 - Who invented the electric tram?

3AfeRreh o ol SMTfseRR R fovam?

Options:
1) James Cook

kg
2) William Harvey
faferam grd

3) Fyodor Pirotsky

FIER fiRia=eht

4) Robert Boyles

Vi)t

Correct Answer: Fyodor Pirotsky

Candidate Answer: [ NOT ANSWERED ]

QID : 45 - Who was the 2015 Men's Rugby World Cup Winner?
2015 Tl sy &y (geew) fostar et om?

Options:

1) New Zealand

2) South Africa

gfeyor arhieT

321Australia

4) England

gve

Correct Answer: New Zealand

Candidate Answer: [ NOT ANSWERED ]

QID : 46 - Indian Mughal paintings originated during the rule of which Mughal Emperor?

R TTet THTe & ATEH 3 SR R Tt (o157} T SEH gofT o?

Options:
1) Humayun

g
2) Akbar
3haR

3) Jahangir
gk

4) Shah Jahan
RIESE]
Cor(ect Answer: Humayun

BT

Candidate Answer: Jahangir

QID : 47 - Which of the following won the Best Film in 62nd Filmfare Awards 2017?

fafafea 3 @ fond a 2017 &6t gd=s fhew & fag 62 af fherthar qReaR e 82

Options:

1) Dangal

&

2) Rustom
>&H

3) Airlift

R foae

4) Udta Punjab
I&dl UTd



Correct Answer: Dangal
Tt

Candidate Answer: Dangal
&

QID : 48 - Which of the statements given below are correct?

1. The author of the novel 'Forty Thieves' is Thomas Perry.
2. The author of the novel 'Half of a Yellow Sun' is Jennifer Egan.
3. The author of the novel 'Middlesex' is Chimamanda Ngozi Adichie.

A Rl ) ol @ A @ e W B2

1. I9TY "HIcT ofieq” & ages 9T G 81

2. IUATY "gTth 31Tth 31 Al T & okgeh SIATR T &1
3 U=y "fAfeedeg” & g Rmmer Al enfe=h &
Options:

1) 1and 2

13k 2

2)2and 3

23R 3

3)1and3
13k 3
4)1,2and 3
1,23k 3

Correct Answer: 2 and 3

23R 3
Candidate Answer: [ NOT ANSWERED ]

QID : 49 - What was USA's rank in 2016 Human Development Index published by the United Nations Development Programme?

2016 % Tgh A fIerTe wRihA GRT TeRITRId AT [Ierra gaenich & gQUg &t Sroft @ off?
Options:
1)1

2)10
3) 100

4) 200
Correct Answer: 10
Candidate Answer: 10

QID : 50 - The Delhi - Lahore Bus is officially known as

ool - TR a9, ¥R aR R __ & &Y H ST Sl g
Options:

1) Sada-e-Sarhad

HeT-G-TRES

2) Maitree bus

At ey

3) Yaad-e-Shaheed

RICEE

4) Dosti bus

St a9

Correct Answer: Sada-e-Sarhad
HaT-T-83ga

Candidate Answer: [ NOT ANSWERED ]

QID : 51 - What is the remainder when 6729 is divided by 35?

STe 6729 @t 35 gRT fawifoia forar STrar 8, a9 srafre @ gtar &2
Options:

1) 11

2)7

3)19

4)13

Correct Answer: 19

Candidate Answer: 19

QID : 52 - A, B and C can finish a job working alone in 72, 24 and 36 days respectively. In how many days they can finish the job if they worked together?
A, B 3R C 31chel o e §Y Tk I T ShALT: 72, 24 3R 36 et & Q1 9 Tehd &1 IS 3 Top 1Y 1 e & dt & fohan! AT & ot o e vt 87



Options:
1)12

2)9
3)15

4)18
Correct Answer: 12
Candidate Answer: 12

QID : 53 - Area of 4 walls of a cuboid is 448 sq cm, its length is 18 cm and height is 8 cm. What is its breadth (in cm)?

eh TFTH (FgETge) T IRl STari T &ithel 448 ot &5, §1 39! ars 18 F.71. ofk Fars 8 §.+1. g1 3ah! Iers (/.41 7) s &2

Options:

1)10

2)9

3)8

47

Correct Answer: 10
Candidate Answer: 10

QID : 54 - At 10% discount the selling price of an article is Rs 4500, what is the selling price (in Rs) if the discount is 27.5%?

10% FT TR Ueh g o1 forsh Jed 4500 T §, T FT 27.5% T af fasht g (T H) @ g?
Options:
1) 4000
2) 3625
3) 3500

4) 3125
Correct Answer: 3625
Candidate Answer: 3625

QID : 55 - What is the fourth proportional to 72, 168 and 150?

72,168 3R 150 a1 agufquifae Fr §?
Options:

1) 450

2) 300

3) 350

4) 400
Correct Answer: 350
Candidate Answer: 350

QID : 56 - What is the average of all numbers between 11 and 80 which are divisible by 6?

11 3R 80 & oftwr goft Temai o sftwd i & S 6 T Ty €2

Options:
1) 46

2) 47
3)44

4)45
Correct Answer: 45
Candidate Answer: 45

QID : 57 - A trader had 960 kgs of rice. He sold a part of it at 20% profit and the rest at 8% profit, so that he made a total profit of 12%. How much rice (in kgs) did he
sell at 8% profit?

ek TR} 3 Uy 960 f36.7T. TTaret 1 3T SWehT Teh 2T 20% A1 WR 3R AW 8% <1 WR &= &z, Afeh a8 et 12% HATH T Toh | IT 8% T WR e =gt (fos.am &) S=m?
Options:

1) 460

2) 560

3) 540

4) 640

Correct Answer: 640

Candidate Answer: [ NOT ANSWERED ]



QID : 58 - If 40% of x =y, then y% of 40 is sameas __ of x.

IfE x BT 40% =y &, A 40 T y%, X T & SRTER g

Options:
1) 16%

2) 4%

3)8%

4) 160%

Correct Answer: 16%
Candidate Answer: 16%

QID : 59 - Excluding stoppages, the speed of a bus is 72 kmph and including stoppages, it is 60 kmph. For how many minutes does the bus stop per hour?

T o T Pl Biehz, 99 hI f 72 fohetiHiier ufa ger & ofR Tt & Wl Tfga, a8 60 foheiier ufd e &1 99 ude 6 | fohas fme & forg Tandt 87

Options:
1)12

2)8
3)15

4)10
Correct Answer: 10
Candidate Answer: 12

QID : 60 - The simple and compound interest that can be earned in two years at the same rate is Rs 1500 and Rs 1575 respectively. What is the rate (% per annum) of
interest?

3 auT F T &R TR SIS gt Tk aTet TR 3R Iehqfeg, 0TS shel: 1500 % 3R 1575 3 &1 &1 & (% Ufd av) frat 82

Options:
1)8

2)10
3)12

4)5

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]|

QID : 61 - If [7(5%/3 - 3/2)]/2 + 3/2 = 1/4, then what is the value of x?

afe [7(5x/3 - 3/2))/2 + 3/2 = 1/4 &, dt x T A T &?

Options:
1) 35/24

2) 24/35
3)-24/35

4) -35/24
Correct Answer: 24/35
Candidate Answer: 24/35

QID: 62-If a3 + b3 =19 and ab = -6, then what is the value of a + b?

gt ad+b3=193Rab=-62 da+baEATRITE?

Options:
15

2)7

3)1

4)-5

Correct Answer: 1
Candidate Answer: 1

QID : 63 - Sum of four times a fraction and 6 times its reciprocal is 11. What is the fraction?

T {3 o IR o1 3R 39 319 & gen & 6 O T AT 11 §1 98 e e 82



Options:
1)3/4

2)4/3
3)4/7

4)7/4
Correct Answer: 3/4
Candidate Answer: 3/4

QID : 64 - What is the sum of the first 12 terms of an arithmetic progression if the 3" term is -13 and the 6t term is -4?

THIR Joft & Uget 12 US! o1 a7 o1 & afe fieRr g -13 SR a1 ug -4 82

Options:
1) 67

2) 45

3)-30

4) -48

Correct Answer: -30
Candidate Answer: -30

QID : 65 - What is the reflection of the point (5, 2) in the line x = -3?

@ x = -3 # g (5, 2) &1 wfafda w82

Options:
1) (-11,2)

2) (11 ,-2)
3)(11,-2)

4)(11,2)
Correct Answer: (-11,2)
Candidate Answer: (-11,2)

QID : 66 - What are the co-ordinates of the centroid of a triangle, whose vertices are A(1, -5), B(4, 0) and C(-2, 2)?

Praget 3 dhaeh 3 Fdarics o & Forrdh A1 A(1, -5), B(4, 0) 3R C(-2, 2) &2
Options:

1)(@1,-1)
2)(-1,1)
3)(2,-2)

4)(-2,2)
Correct Answer: (1,-1)
Candidate Answer: (1,-1)

QID : 67 - Slope of the line AB is -4/3. Co-ordinates of points A and B are (x, -5) and (-5, 3) respectively. What is the value of x?

@1 AB & gal -4/3 81 faigait A ok B & fAderias shmst: (x, -5) 3R (-5, 3) 1 x ol A9 T 87

Options:
1)-1

2)2
3)-2

4)1
Correct Answer: 1
Candidate Answer: -1

QID : 68 - D and E are points on side AB and AC of AABC. DE is parallel to BC. If AD:DB = 2:5 and area of AADE is 8 sq cm, what is the ratio of area of AADE: area of
quadrilateral BDEC?

AABC &t ofsTisit AB iR AC R D iR E g §1 DE, BC & &#icR 81 afé AD:DB = 2:5 & 3R AADE &1 &5tet 8 & 9. 1. 8, dtf AADE & &5thel: ISt BDEC & &thel a1 S1gUTd T
&



Options:
1) (4:45)

2) (45:4)
3) (8:45)

4) (45:8)
Correct Answer: (4:45)
Candidate Answer: (4:45)

QID : 69 - What is the value of v2 Sec 45° - Tan 30°?

V2 Sec 45° - Tan 30° &7 A9 T &2

Options:

1) (2v3-1)/3

2) (v3-1)/V3

3) (2v3-1)/V3

4) (v3-1)/3

Correct Answer: (2v3-1)/v3
Candidate Answer: (2v3 - 1)/v3

QID : 70 - AABC is right angled at B. If m 2A = 60°, then what is the value of 1/v3 Cosec C?

AABC, B IR I9eRI1 &1 afe m A = 60° §, @ 1/v3 Cosec C &1 AT 4T 872

Options:
1) 2/v3
2) 2/3
3) v2/v3
4)v2/3

Correct Answer: 2/v3
Candidate Answer: 2/v3

QID: 71 - If Cosec 8 = 25/7 , then what is the value of Cot 8?

Tfe Cosec 8 = 25/7 &, @ Cot 8 &I T T 2

Options:
1) 24/25

2)7/24
3)7/25

4) 24/7
Correct Answer: 24/7
Candidate Answer: 24/7

QID:72-
In which country inflation in 2016 was lower than that of the previous year?

e 2016 H fhg 21 Y Garehifal Ut aef el g & &a of1?
Options:

Correct Answer: C
Candidate Answer: C

QID:73-
By what percent inflation in 2016 was greater than the inflation in 2015 in country D?

S D A ay 2016 # g3 AT, 2015 # g3 Garewhifa & gorar # fonaht nfarera sifdres ofi?

Options:
1) 60

2) 100
3) 150

4) 120
Correct Answer: 150
Candidate Answer: 150



QID:74-
In the year 2015, what is the ratio of inflation in country C to country A?

T 2015 # 321 A 3R C & 7eg qerhifa 1 Srgard fha 87

Options:
1)1:2

2)2:3
3)3:2

4)2:1
Correct Answer: 2 : 1
Candidate Answer: 2 : 1

QID:75-
If inflation is measured as increase in price index and the price index was 200 in the beginning of 2015 in country D then what is the index at the end of 2016?

& G Sl Jea Gaahieh A g & dI IR ATAT S 3R 321 D # 2015 o SR # 7 adhich 200 AT dt 2016 & i # Gadhics fhaT ghm?

Options:
1) 207

2)207.2
3)210

4)2142
Correct Answer: 214.2
Candidate Answer: [ NOT ANSWERED ]

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Several great battles (1)/ took place among (2)/ the British and the Americans. (3)/No Error (4)
Options:

Correct Answer: 2
Candidate Answer: 2

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The stream gurgled (1)/ contentedly as it (2)/ slowed to rounding the bend. (3)/No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The criminal changed his name to an in order to elude the police.
Options:

1) alternative

2) alias

3) option

4) untrue

Correct Answer: alias

Candidate Answer: alias

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The_____ my husband and I had was so loud it woke our children.
Options:

1) quarrel

2) coral

3) moral

4) laurel



Correct Answer: quarrel
Candidate Answer: quarrel

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Litter

Options:

1) Trash

2) Order

3) Possess

4) System

Correct Answer: Trash
Candidate Answer: Trash

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Obliterate

Options:

1) Construct

2) Annihilate

3) Revive

4) Initiate

Correct Answer: Annihilate
Candidate Answer: Annihilate

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Scrimp
Options:

1) Skimp

2) Conserve
3) Squander
4) Curtail

Correct Answer: Squander
Candidate Answer: [ NOT ANSWERED |

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Guzzle
Options:

1) Carouse
2) Starve
3) Imbibe
4) Quaff

Correct Answer: Starve
Candidate Answer: [ NOT ANSWERED |

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To heave a sigh of relief

Options:

1) To ecome very tired with routine or boring work

2) To suddenly feel very happy because something unpleasant has not happened or has ended
3) To Feel extremely sad over someone else's misfortune

4) To Feel silent anger over real or perceived injustice

Correct Answer: To suddenly feel very happy because something unpleasant has not happened or has ended
Candidate Answer: To suddenly feel very happy because something unpleasant has not happened or has ended

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To be on cloud nine

Options:

1) To extremely happy

2) To feely lucky

3) To experience the feeling of being intoxicated
4) To make one last attempt

Correct Answer: To extremely happy

Candidate Answer: To extremely happy

QID : 86 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "'no improvement".

She was uneasy because she (never be) on a plane before.



